Math 5605 Algebraic Topology

Book 1

If X, Y are top, spaces, $f: X \rightarrow Y$ is continuous if $f'(u) \leq X$ is open whenever $U \subseteq Y$ is open. $f: X \rightarrow Y$ is a homeomorphism if f is bijertice and f, f' are continous. X = Y are homeomorphic if there exists a homeomorphism X => Y. Since $S^2 \leq \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z) \in \mathbb{R}^3 \times \mathbb{Z}^2 + y^2 + 2^2 = 1\} = \{(x,y,z)$ R' # S' S' # T' = S' × S' = S' T' are compact surfaces. They are locally homeomorphic but not globally homeomorphic. $T' = S' = () = circle = \{z \in \mathbb{C} | |z| = 1\}$ (sig) S° # T² because S² is simply connected whereas T² is not. In S¹, every closed path can be contininuously shownk" to a point (homotopic to a point, i.e. mull homotopic) Eq. For every N>0, R" is homotopy equivalent to R° = {.}

a function f: [0,1] -> X such that f(0)=a, f(1)=b. biven points a, b & X (a topological space), a path from a to b All maps (unless indicated otherwise) are assumed to be continuous. [0,1] \xrightarrow{f} f(0)=a f(1)=b X f(2)=b X f(2)=b XIf X has a pith between any two of its points, then X is pith-connected, for the time being, we'll assume X is path connected. (In general, we instead define the fundamental grouppid of X.) If $\varphi: [0,1] \rightarrow [0,1]$ (necall: continuous) such that $\Psi(0)=0$, $\Psi(1)=1$ then $\varphi: \varphi: [0,1] \longrightarrow X$ is just a reparameterization of the same path and we don't distinguish it from f. If f,g: [0,1] -> X are peths such that f(1): g(0) then we can concatenate them to form a new path from from to g(1): f(w) f(r) = g(w) g(r) h $f(r) = \begin{cases} f(r) \\ g(r) \\ g(r$ のともとえ えきもちい A map [0,1] -> X (fg) h is the same path as f(gh) after reparameterization: $((f_{g})h)(t) = \begin{cases} f(4t), t \in [0, \frac{1}{4}] \\ g(4t-1), t \in [\frac{1}{4}, \frac{1}{2}] \\ h(2t-1), t \in [\frac{1}{4}, \frac{1}{2}] \end{cases} \quad (f(gh))(t) = \begin{cases} f(2t), t \in [0, \frac{1}{2}] \\ g(4t-2), t \in [\frac{1}{4}, \frac{1}{2}] \\ h(2t-3), t \in [\frac{1}{4}, \frac{1}{2}] \end{cases}$ $(s,t) \mapsto f(s,t) = f_s(t)$ t∈ (0, 2] such that f=f is. fits=fits f=g is. fits=gds $f_{s}(t) = a \qquad \text{for all} \\ f_{s}(t) = b \qquad s \in [0, T]$ fig are homotopic but h is not homotopic to fig f_{i} This is a homotopy from f to g We say f, g are homotopic if there is a continues. Family of paths from a to b in X, f_s ($s \in [0, 1]$) with $f_s = f$, $f_s = g$

If P: [0,1] -> [0,1] is a map with P(0)=0, P(1)=1 then the reparameterized homotopic to f. A homotopy from f to fog is	1 path	foq: [0,1]	->X is	· · ·
$[0,1]^2 \longrightarrow X$				
$(s_it) \longrightarrow f((1-s)t + s q_{it}) = f_{s}tt$				
n lo, 17				
$f_o(t) = f_{rt}$				
$f_{t}(\mathcal{H}) = f(\mathcal{Y}(\mathcal{H}))$				
$f_{s}(0) = f((1-s) + s + f(0)) = f(0)$		· · · · ·		
$f_{s}(1) = f((1-s) \cdot 1 + s \cdot g(1)) = f(1)$	· · · ·			
Fix $x_o \in X$. Assume X is peth-connected. $\pi_1(X, x_o)$ is the group of from x_o to π_o in X under concatenation. It turns out $\pi_1(X, x_o) \cong \pi_1(X, x$	all hon	notopy cleases	r pittes	
from no to no in X under concatenation. It turns out TT, (X, No) = TT, (X, N	(I.) I. I. 194		∧ .·	
This gives the fundamental group T. (X).				
T, (TR") = 1 (toisial group).				
$\pi_i(S') \cong \mathbb{Z}$ (free group on one generation)				